
http://waterheatertimer.org/Review-Rheem-Marathon-water-heater.html

http://waterheatertimer.org/Marathon-water-heater-elements.html
http://waterheatertimer.org/Marathon-water-heater-thermostats.html





14

Replacement Parts

Key No. Description
1 Dip Tube
2 Grommet, Large

Grommet, Small
3 Seal Ring, Large

Seal Ring, Small
4 Vacuum Valve 
5 Temperature and Pressure Relief Valve
6 Reducer Bushing, 3/4" NPT x 1" NPT - (105 Gallon Only)
7 Knock-Out Bracket
8 Screw, #8 x 3/4"
9 Junction Box Cover
10 Screw #8-16 x 5/8"
11 Water Connection Fitting
12 Screw, SHCS - 5/16-18
13 Cavity Insulation
14 Cover Plate
15 Screw, #10-16 x 5/8"
16 Gasket
17 Drain Valve
▲ Drain Pan
▲ Use and Care Manual
▲ Not Illustrated

http://waterheatertimer.org/Marathon-water-heater-elements.html
http://waterheatertimer.org/Marathon-water-heater-thermostats.html



15

5

7

8

9

10

11

14

15

16

3
14

15

16

13
12

17

13
12

 

11

6

1

4
3

2

Replacement Parts
50, 85, 105 gallon models.


	SCAN0618_000.pdf
	SCAN0619_000.pdf

